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XIANGQI RULES

1 Common terms

Check

Kill

Chase

Exchange

Block

Offer

ldle

Perpetual check

Perpetual kill

Perpetual chase

Resolye-kill

Counter check

Protected
o )

A move that attacks the king immediately. {Usually, when
making a check, one would alert his opponent by saying
“jiang jun”.}

A move before a check or a series of checks that leads to
a checkmate.

A move that threatens to capture a piece other than the
king in the next move. :

A move that trades a piece with an opponent’s piece,

A move that prevents an opponent’s piece to move in a
certain direction,

A move that invites the opponent to capiure a piece.

A move that is not a check, kill, chase. exchange, block or
offer.

A string of consecutive checks, causing a similar situation
to recur endlesslv. This definition can also be used for
“perpelual block™. “perpetual exchange™ and “perpetual
offer™.

A succession of kills.

Player A makes a succession of chasing moves, while player
B answers each move by moving away the piece under
attack. or resolving the chase with another picce. If A
continues to attack the piece move after move, he is making
a “perpetual chase™,

A move that dirgctly foils the opponent’s threat to
checkmate. “Resolve-check”, “resolve-chase™ have similar
meanings.

A move that resolves a check and checks the opponent king
at the same time. Similar definitions apply to “Counter kill®,
“counter chase”, “resolve-kill™ and “counter chase™ ete.

A piege is said to be “protected” (literally “rooted™) if any

opponent piece captures it can be captured immediately.
Otherwise, it is “unprotected™. The protector of a pisce is
called the “root™.

Real root When a protected piece is captured, and the protector can

Fake root

Alternate check

in turn capture the captor, the protector is a “real rool™.

When a protected piece is captured, the protector is
immobilized and cannot take the captor immediately.

& check followed immediately by a kill,

& kill Similar definitions apply to “altemate check and chase™,

“altemate check and idle", “alternate kill and chase™, “multi-
check with one kill”, “multi-check with one idle™ ete.

Two-to-one check While one side is making perpetual check, the other side

in resolving the checks, counter checks on every other
move.

Two-to-one chase While one side is making perpetual chase, the other side

in resolving the chases, counter chases on every other move,

I'wo-to-two chase While one side makes two consecutive chases, the other
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side in resolving the chases. also returns with two chases.

Basic Principles of Judgement

In applying the Rules of Xiangqi to judge the outcome of a game, the following
four basic principles must be observed:

1)

When both players do not violate the rules, and neither of them wishes to
vary the moves, the pame shall be declared a draw.

When both players violate the same rules simultaneously, the game shall
be declared a draw.

Where one side checks perpetuallv, and the other side chases perpetually,
the side making perperual checks must varv the moves. Otherwise it loses,
Where one side wviolates the rules, and the other side does not, the side
violating the rules must vary the moves. Otherwise it loses,

General Rules

Under all circumstances, perpetual checking will be tuled as a loss.
In any of the following cases, the game will be declared a draw if neither
side wants to vary the moves:

Alternate check and kill

Altermate check and chase




3)

4

3)

6)

7)

8)

9}

Alternate check and idle

Alternate kill and chase

Alternate check and capture-after-check

Alternate chase and capture-afier-check
Perpetual chase of one piece on another piece {other than a pawn that has
wet to cross the mver) will be ruled as a loss. It 1s also illegal for two or
more pieces 1o make perpetual on one piece. except when one of the chasing
picces 15 a pawn or a king,
One piece chasing two or more pieces repeatedly will be ruled as a draw,
so are two pieces chasing two or more picces.
In the case of a two-to-one chase, the player making two consecutive chases
is considered making perpetual chase and has to vary the moves. Otherwise,
he loses.
Perpetual chase on a piece with real root will be declared a draw. It is a
draw if the protector is a fake root. However, perpetual chase on a chariot
by a horse or a cannon is prohibited.
Perpetual chase on a piece of the same type will be ruled as a draw. It will
not be allowed, however, if the piece attacked is pinned down to a file or
a rank. Besides, a “free™ horse may not perpetually chases an “impaired”™
horse.
When one of the bvo consecutive chases can also be viewed as an invitation
to exchange pieces, it is still defined as “perpetual chase™. Perpetual chase,
even if each move is also an invitation to exchange pieces. is still a
perpetual chase.
A king or 4 pawn chasing any piece perpetually will be ruled as a draw. A
king or a pawn, in combination with another picce, chasing perpetually on
a piece will also be ruled as a draw.

10} In all the following cases, the game will be declared a draw:

Perpetual block

Perpetual offer

Perpetual exchange

Perpetual threat to capture-after-check

Detalls and lllustrations

The side that captures the opponent™s King first wins the gamée.

A pame can also be won by rendering all the opponent pieces immobile

When a plaver repeats any illegal moves for three times, despite the request from
the referee to change his move, he will be declared the loser.

It iz a draw if:

(a) neither side can force a win

(b} one sides offers a draw and the other side agrees

(c)  the referes declares it so.

If a pame comes to a standstill with repeating scquence of moves, and neither
player has violated any rule or wishes te vary his moves, it will be declared a
draw.

6. Under no circumstances will perpetual check

be permitted. whether checking is made with
a single piece or several pieces. The plaver
must break the perpetual check. else he will
lage the same {Diaprams 1, 2 & 3]

[Diagram 1] (Red to move)
R2+1, K6+1, R2-1, K6-1, R2+1, K6+1, R2-1. ...

[Magram 3] (Red to move)
R4+1, Kd+1, Rd-1, K4-1, Rd=1, Kd4+1, Rd-1,

Remarks:

In the above three dizgrams, Red has violated
the rule of perpetual check. Red must change
his moves, or he losed.

[Diagram 2] {Red to move}
R4=3, K53=6, R3=4, K6=5, R4=5, K3=6, R5=4,




[Dagram 4] (Red to move)
R5+1, C5=6, R5=4, C5=6, Rd4=5, C6=5, R5=4, \|/
C5=6, R4=5,

7. If both plavers check the opponent perpetually B34 x A
( in other words, a situation of answering a check
with counter check), the game will be ruled a ™

draw (Diagram 4).

®

[Dizgram 7] (Red to move)

: 23
Ho+7. K6+1, H7-6, Ké-1, 16+7, Katl, HT- @_\_—?

F
=l
i

Bemark

With the move R5=4, Red counter checks Black.
Likewise black counter checks by moving his
cannen C6=>5. If both players do nol change their
moves, the game will be muled a draw.

Bs zZ 5% a1 7
[ I e | ,J}‘ E. In a situation of two-to-one check, the player
. i ,L\Iéa performing perpetual check must change his
! = o moves, otherwize he loges. (Diagram 5).
| @r :
B [CHagram 5] (Red to move)
' 3% P4=5, P6=5, Pi=4, P5=6, Pd=3, Pb=3, P5=4,

Bemark

e
e
|

or he loses,
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9. Perpetual kill is permissible and the game will
be ruled a draw, regardless of what rescuing
moves are available to the opponent. (Diagram
6-0),

[Diagram 6].[Red Lo move)
R2=3, E7+0, R3=2, E9-7, R?=3, E7+0, R3=2,
ES-T, R2=3.....

N

=

Red has committed perpetual check. On the
= contrary, black’s check and idle seguence is
permissible. Therefore red must change his moves,
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[[Mapram 9] (Fed to move)
C7=5, Ch=5 C5=2, C5=8. (=5, CE=5, C3=2,

Remark

Red C5=2 iz a kill and Cé=5{or C2=3} al:o
comes with a mating combmation [ P4+1, K4=5,
Pi=4, K6=5, P4=5, K5=6, P5=4.) This iz
considered another type of perpetual kill and the
game will betuled a draw if both plavers do not
chanpe their moves.

S @

[hagram &] {Red (o move}

CT=3, 'Q3=7, C3=7, €7=3, CI=2, C3=%

_ In the three diagrams above, red is making
perpetual kill. Perperual kill, unlike perpetual

@_ T | check, is allowed, Thercfore the game will be
@: f reled 2 draw if both players do not chanpe their




1 0. Resolve-kill and counter kill, 2 situation where
one side makes perpeiual kill, and the other side in
resolving the Kill counters with o kill, is ruled a
draw. (Diagram 10}

[Diagram 10] (Red to move)
P5=4.Ko=5, Ki=l. Pi=6. P4=5. K.5=0, K4=5_ Pa=3,
Pa=d .

Eemark

In the diagram above. the moves of the kings and
the pawns are resolve-kill and counter kill.
Therefore the game will be ruled a draw if both
plavers do not change their moves.

a draw,

Hemark

[Ciagram 12] (Red to move)
C4=5, K3=6, Ci=4, K6=35, C4=3. K5=6, C5=4,
K6=5, C4=3,_.....

Remark

Fed C4=3 is a check and C5=4 comes with a
matng combmmation ( B7=5, Ad4+3, R7+2, Cd-2.
RT7=6, K3=4, HT+8, Kd4=3, HE-6, K3i=6, C5=4,
A3+, P4+1.) This 15 also classified as  alternate
check and kill, and therefore a draw.
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11. Repetition of altemate cheek and kill is ruled
(Diagram 11-12}).

[Thagram 11] (Red 1o move)
Rd=2, Ki=6. R2=4, KS5=6, R4=2, K5=6, R4=2,

Since perpetwal kil s a draw, logically, repetition
of check and kill is also a draw.

w A

12, Recurrence of altemnate check and chase or
multi-check and one chase 15 ruled a draw

(CrHagram 13},

[Daagram 13] (Red 1o move)

C243, K6+1, R249, C9-5, R2+8, K6-1, R2-3, C9-
2, R2+4, K6+1, R2-2, C944, R2+1, K6-1, R2+1,
K&+l R2-6......

Remark

Red charict makes a chase on the black cannon
after one or more checks. Although the black
cannof is unprotected, red s not pwlly of
perpetual chase. Therefore the game will be ruled
a draw, if both plavers do net change their moves.
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[Diagram 15] (Red to move)

RE-1, K5-1, RE+1, K541, R8-1, K5-1, R§+1,._.. €3

Remark

Red RE+1 threatens to win material with Co=d4
ar CH-6. Mevertheless the moves are neither
perpetual check nor perpetual chase, the game 15 g

therefore tuled a draw,

"
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15, Repeution of alternate check and idle, or
alternate check and capture-after-check is ruled a
draw. ([magram 14-16).

[Diggram 14| (Red to move)

RTEL. A5, RT-1, Ad+3, BT+, AS-4, R7T-1, Ad4+5,
-l ]

Remark

Adter checking the black king, red’s next move is
not a check, although 1t threatens 10 win a piece
throush C94+2. AS4 RTrl, AS-4, R7-3, Red’s R7-
1 is a waiting move. Since check and kill repeat is
a draw, logically, this is also a draw .

3a i
-
|
-::ﬁi} |

.a_ﬁ:_ - <
W)
g %



[Diagram 16] (Red o move) Es 2 F

R7-4, Kd4+1, R7-4, K4-1, B7+4, K441, R7-4,...... 4@\_9_1_
.‘E_:_

Femark i1 e
The intention of Red’s R7-4 is to win the black : =
horse or the black chariot with a8 capture-after-

check. However. it does not constitute a perpetual P |
check or perpetwal chase. Therefore the game s w2

mled a draw. LL W ! |

" T ©
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I4. A chase followed with a threat 1o capiure-
after-check 1% ruled a draw . {Diagram 17).

[Diagram 17] (Red to move)

Ra=2, Ki-1. K2=6, K5+1, R6=2, K51, R1=5,
K5+, R6=2 ...

Femark

In order to save his horse at the comer, red makes
twir consecutive moves with his chariots: B6=2
threatens o captere the opponent’s horse, while
R2=f is a direct chase on thar horse. As there is
no perpetual chase, the game is ruled a draw,

15 A cannom of tWo cannons may not perpetaally
chase a chariot, whether or not the latter is
protected. Even if the chariot, in tum, makes two
consecutive chases on unprotected pieces | the
cannons still may not chase the chanot perpetually
(Diagram 18 - 25},

[Diagram 18] {Red to move)
Cd-1, t++2, C4-2, r+32, C4+2, r++2, C4-2, 1+
20CaH2,

Remark
The red connon 15 making perpetual chase on the EF :
black charot (though protected). Red must /)/Z_E{
; ey e
change his moves, else he loses, by '\!I_{.-.\:_/ —lg.
g &
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[Diagram 19] (Red 1o move)
C2-1, r4-2, C242, r442, C2-2, 142, C242, .

Remark

The red cannon chases the black chariot in owo
eonsecutive moves, while the black chariot is
protected on one move and counter chases a red
canonon on the other mowve. Black's moves
produce a ‘chase and idle’ loop. Red. on the
other hand, 15 making a perpetual chase on the
chariot, Therefore red must change his moves,

Bie

ar he lozes.
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[Diagram 21] (Red ta move)

H3+6, 13+, £2-1, c7+1, AS+6, c7+1, A6-5, c7-

1, AS5+6, c7+1, AG-5, ...

Remark

[Diagram 20] (Red o move)

C2+1, rd+2, C2-2, M2, CH42, r4+2, C2-2, 1rd-
e

Remark

Red chases the black chariot in consecutive
moves. The black chariot, in turn, chases the red
horse and the cannon altemately, This looks like
1 twa-lo-two chase. However, red moves are
illegal because the red cannon is making
perpetual chase on a chariot. As for black.
chasing two different pieces altermately with the
same pigce is permissible, Therefore only red is
violating the rules. Red must change his moves,
or he lozas.

B 21 2 A

—r@—
@ d

[oni) & |

By moving the advisor. the red cannon is in
effect making a perpetual chase on the black
chariot. Therefore red must change his moves,
or he loses,

&1

oo fes

BY~98

T A

11



[Thagram 22] (Red to move)

B 22 2 &

C3-1, t6-1, C8+1, r6+1, T&-1, rb-1, CB+1. ro+l,

C3-1, ..

B 23 £ F
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|Diagram 23] (Red 10 move)
C5=7, ri=d4, CT7=6, r4=3, CoH=7, 53, ET-9, el-
5, E9+7, r3=4, C7=6, r4=3, C6=17, ..

Remar

Ited cannon 13 making a perpetual chase on the
black chariot. Althoush red will lose back a
chariot after capturing the black chariot. still the
situation is that the red cannon chases the black
chariot consecutively. He must change his moves.
else he loses.

(-

It A

[Diagram 24] {Red to mowve)
CZ+4, t4+3, Ca+1, r4+2, C2-3, C4-5, C4+3,
rd+3, C2+2, r4+2, C4-5, ..

Remark

Twa red cannoms work in tandem to perpetually
chase the black chariot. The black chariot in
reply, chases the red horse or the crossed-river
pawn on altemate moves. This looks like a case
of perpetual chase by both sides. However, it
is legal for a piece to chase two or more pieces
altemnately, but illegal for two or more pieces to
chase ome perpetually. Therefore red must change
his moves, or he loses.

12

[[Magram 25] (Red to move)
0244, rd4+3, Ca+l, =2, C4-2. rd-2, C2-3, rd-
3, C4+5, ..

Bemark

Although the black charion is protected, the case
is the same as the previons diagram. Red must
chanpe hiz moves, or he loses.

Bjas

B

o

B
_ M- 29
EHR—————{R®
@/: r2=], C8=1, ..
:E-:
O— B H-©
£ 0H

[Diagram 27] (Red to move)
Ca4+1, r2+2, C4=3, rd+43, C4-5, r2-5, Cd+2,
rd+2, C4+3, .

Bemark

In each of the above two diagrams the red
cannon chases one of the two black chariots on
alternate moves. This is allowed though the black
chariots are unprotected, Therefore neither side
has wiolated the rules. If both sides do not
change their moves, the game will be ruled a
draw.

[Diapram 26] (Red w move)
L C2=1, 19=8, C1=9, r1=2, 09=1. r§=9, CI=§,

16. Cme cammon chasimg two chariots on alternate
mowves 15 allowed, 5015 two cannons chasing two
chariots on alterniate moves, {Diagram 26, 27 and

13



[Diagram 28] {Red to mowve)

Ca+1, 12-3, C2-1. rd4, C4+2, r4+2, C2+7, 4-
2, CIH3, 1243, C4-4, vd-4, C2-53, 12-3, C4+4,

48, 0243,

Remark

The red cannons attack the two black chariots
on alternate moves. This is not the same as a
perpetual chase om a piece by one or bwo pieces.
Therefore if both sides do not change their
moves, the game will be ruled a draw,

dLr

wH

[[agram 30] {Red to move)

R4=3, ¢7=3. R3=7, 3=7, R7=3, ¢7=3. R3=7,

ci=7. R7=3, ...
Remark

In the above two diagrams, red chases the
protected cannon on consecutive moves. The
game will be riled a draw if both sides do not
change their moves.

14
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17. A chariot may chase a protected cannon in
comsecutive moves. Such consecutive chases are
also allowed when the cannon becomes
unprotected on every other move. (Diagram 29,
30 and 31)

[hagram 29| (Red 1o move)
R1=2. c8=9. REI=1, cb=8. RI=2, c&=9, Ri=1l,
ch=8, R1=2. ..,

[Diagram 31] {Red 0 move)

RI=]. c0=F_  R1=2,
cB=9, Ri=], .
Remark

Black iz making perpetual kill, while red is E‘B‘
chasing a protecied plece on one move and an
unprotected piece on the other. Both are
permissible, therefore the game will be ruled a
draw if meither side opts 10 change the moves. i

c8=0. R2=1

c9=8. R1=2.

i 5 B3
[Diagram 33] (Red to move)

R2=1, c9=8. R1=2, c8=9, R2=1, c9=8. Ri=2, o

Remark

In the above two diagrams, red is making
perpetual chase on an unprotected cannon with IR
a chariot. He must change his moves, else he =

loses.

B2
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18. A chariol may not perpetually chase an
unprotected cannon even if the cannon 1s making
a perpetual kill, alternate check and kill, altemate
check and counter chase, or a counter chase on
two pleces i two consecutive moves. (Dhagram
3223

[Diagram 32] (Red 1o move)
R8=%. cl=5 R9=3 ci=1_R5=0. cl=3, R9=5,
ci=l. R5=9, ..




[Dagram 34] (Red to move)

R3=21, cB=3, R2=7, ¢3=§, R7=2,

cI=8, Ri=3 .

c8=3, R2=7,

[Diagram 36] (Red 10 move)

R2=7, ¢3=7, R7=3, C7=3. R3=7, ¢3=7. R7=3,

c7=3, R3=T, ...

Remark

The black cannon is chasing one of the two red
horses on alternate moves. Whereas the red &y
chariot is making perpetual chase on the black
cannen. Therefore red must change his mowves, _%1” | @

otherwise he loses.

16
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[Magram 35| (Red to move)
R6=3, ¢7=3, R3=7, ¢3=7, R7=3, c¢’=3. R3=7,
ci=7, BRT=5. ..

Remark

In the above two diagrams, perpetual kill is
permissible for black. On the contrary, the red
chariot’s perpetual chase on the unprotected
cannen 18 illegal.  Thercfore red must change
his moves, otherwise he loses.

'@,

¢,
I

[[Chagram 37] (Ked to move)

Ri+l, el-1. RE&-1, c1-1, B&~1, c1+1. RE-1. cl-

I, REB=1, ..

Remark

violated the rules with the perpetual chase on
the black cannon. Red must change his moves.

otherwise he loses.

Black is not viclating the rules for making the !
alternate check and chase. Whereas, red has ? B ) |
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19, When a chanot 1s rendered immobile by a
horse, no piece may make a perpetual chase on
the chariot, repardless of whether the horse is
protected. (rherwise, it will be ruled a loss,
{Diagram 39. 40 and 41)

[Diagram 39] (Ked to move)

RE+2, ab+5, BB-3, as-6, RB+3, ag+3, RE-2, as-

G, RE+2, ..

P
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[[Magram 38] (Red to move)
R1=7, c3=8, R7=2} cB=3 RI=T7, ci=§. R7=21.
c#=3, R2=T. .

Remark

The black cannon's aliernate Kill and chase is
Flk’.'l:il!li.}i:':lh]&. Whereas the red chariol % making
perpetual chase on the black cannon. Red muost
chanpe his moves, clse he loses,

17



[DHagram 40] (Red 1o move)

-1, a%-6, C8-1. ab6+3 CE+], ad-6. C8-3, abt3,

CR+50..

20, A camnon and a horse may not perpetually
chase a chariot (protected or unprotected) on
conseculive maves, This also apphies even if the
chanot 15 making countér chase on one or more
pieces in replv. Smilarly, one may not perpenslly
chase a chariol on aliemate moves with two
horses. {Diagram 42, 43 and 44)

[Dragram 42] (Red to move)

RE=4, h7+8. R4=3_hE-7, R3=4 h7+8, R4=3, h§-

P
Remark

The red chariot 15 not violating the rules with
the alternate chase and idle. On the contrary, the
black horse and cannon have violated the miles
for making perpetual chase on the red charior
Therefore black must change his moves, or he

loses.
LB
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[Maagram 41] (Red to move)
H9-3, at45 HE-T, ad-6, H7+6, a6-5, H6-T, a5-
0. HT+8, ..

Remark

The black charit i3 not considered making
perpetusl chase on the unprodecred horse because
there is no move with the chariot. On the
contrary, red chases the chariot in consecutive
moves with o two-picee combination. Red has
violated the rules of perpetval chase on one
piece. He must change his moves. else he loses

[Diagram 33] (Bed 10 move)
Ed4=3, h8:7. Ri=4, h7+E. R4=3, hE-7. Ri=4,
h7+%, Rd=3, h8-7, ..

It 1% permissible for the red charo o chasé two
picces on gliemative moves, On the contrary. 1l
is illepal for the black horse and cannon 1o make
perpetual chase on the red chation Therefore
black must change his moves, or he loses.

21. A horse may not perpetually chase a chariot T
{whether or not the latter is protected), even _;ﬁ: Jjg
though the chariot counter chases the horse on ;

T L ey~
every other move, [Thagram 45, 46-and 47) g @

[Dragram 43] (Red to move)
H4-3, r3-1, H3+4, 13+1, Hd=3, 131, H3-d, 13-

B.ed horse 15 not allowed to make perpetal chase

on the black chaniot. Whereas black s alternate _— e l;:tf-—- e e
chase and 1dle sequence 15 permissible, Therefors s _;e:hltﬂr'ﬁ:f‘..
LAt

red must change his moves, otherwise he loses.

[ Diagram 44| (Red 10 move)
F4=3, h8-7, R3=4, h¥-8. Ri=3, h8-7. Ri=d
h7=8.

Remark

I'he red chanot chases the plack conmon on evers
other move. Whereas black perpetunally®chases
the red charsot on the excase that s nght horse
15 under attack. Black must change his moves.

or he loses.

] | .-} ﬂ%} l Z --_
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[Diagram 46] (Red o move) ] 46 & A
R7+2 hi+2, BR7-1, h2-1, R7+FL, hl1+2, R7-1, h2-
I, B7], hl=2, ..

__I_
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[[agram 47] (Red 1o mowve)
H1+3. r8=7. H3-1, r7=8, HI+3. 18=7, H3-1,
=8, HI+3, ..

Remark

In the ahove two diagrams, two-to-one chase
occurs. Although the horse’s moves i either case
are forced. it 15 still a vielauon of the rules as
the moves constituie 4 pempetual chase on the
chariot. Therefore the side with the horse must
change the moves, otherwise o Joses,

22, Mumal perpetual chase berween a chariot . ' A
and a horse is a draw. {Diagram 48)

[Diagram 48] (Red o move)
RE+«]l. h4+3, RE=T  h3-5. R7-1, h5-4, RT7=6, It
h4+6, Re+l, h6+3, R6=5, h3-3, R3-1. hi-4, — S 2
I
I

R5=6, ...

Remark »./

By making perpetual check on each other, both ;Z'

red and black have violated the same rule. The ,ﬁ/b@{ﬁ
game will be ruled a draw if both sides do not =
change their moves. i A

20

13, A charior may not perpetually chase a horse B 49 L
if the horse in wrn, is only makig a counter
chase, a single check. or a cheek followed with
a counter chase on some other piece. (Diagram ﬁ =3

49 and 30) :;ZQ:L@ =L )

[[agram 49] (Red o move)
E7-1, h2+1. R7-2, h1-2, R7+2, h2+1, R7-2_ hl-

plagd e T Ty R
Remark = | '
Alternate chase and idle with the black horse is _@ | |
permissible. whereas the red charior has violated : ‘ﬁi - |
the rule of perpemal chase. Therefore red must | _ '_:'_j}*-.i |
change his moves, or he loses. At

)

&l 50 £ 5B LA

[MMagram 3] {Red to move)
R6+2, h2=3, R6-2, h3-2, Ro+2, h2+3, R6-2, hi-
2 R6+2, .

Remark

Alternate check and chase, or Allemate chase
on twe different pieces a: performed bere by the
black horse is permissible. On the contrary, red
is making perpetual chase on the black horse
with his chariot. Therefore red musi change s
moves, or he loses.

24, Chasing 4 piece of the same 1vpe
— Chariot Ve chariot:

Where both chariots are free to capture each other, it will be treated as perpetual
offer. and reled a draw if both sides do no change the moves. I one of them is pinned
and cannetl capture the other, the opponent chariot may nol chase it perpetually
—  Cannon Vs cannon;

Where both cannons are free o capture each other, it will be treated as perpetual
offer and miled a draw if both sides do not change the moves. I one of them is pinned
and cannot capture the other, the opponent cannon may nol chase it perpetually.

— Horse Vs horse: '

Where both horses are free (o capture each other, it will be treated ag a perpetual
offer and ruled a draw if both sides do not change the moves. [ one of them is
blocked -and cannot capture the other, the opponent horse may not chase it perperually.
(Diagram 31 - 33)

21



[Cragram 51] (Red to move)

E3=1, o9=§, Rl=2, 18=7, R2=3 rJ=

rE=9 R2=1, 79=7 Ri=3. .

8 wﬂéhﬁ_@

i 5

[Dizgram 53] {Red to move)
C3=8, e2=3, CB=7, 3=2 (7=§, c2=3
¢3=2. Ci=k; ..

Remark

LT

T

[Diagram 32| (Red to move)
RE=2, ri-3. RB-3, r3-2. RE+2, r5-
[, RE+1. ...

2. RE-2, r5-

Remark

In the above twoe diagrams. red repeatedly offers
his chariot. The black chariot can actually
capture the black chariot bur the snuation docs
not permit it 1o do so. If both sides do not
change their moves, the game will be ruled a
draw,

B 55 =

TR —aO

, C8=7,

The black cannon cannot leave the base line 1o
caplure the red cannon. Red then is not allowed
0 make perpetual chase on the black cannon
even if black is making a perpenm] kill. Red must
change his moves. or he loses.

[ragram 34

C7=2, ci=1.

| {Red 1o move)

ci=8 C3=2_0.

Remark

Although the block cannon is pinned, it is
protected on one mowve, Therefore red’s moves
do not constitute a perpetual chase. If both sides
do not change their moves, the game wall be

raled a draw.

Ess

C2=3 c7=8 C3=2

ch=7_. (2=3, ﬂa\ g @ r%}

&0
| —® e
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[Diggram 55] (Red o move)

HX+4, h7+%, H4-2, h9-7. H2+4, h7-9. H4-2, h9-
7 e

Remark

I'he black horze is biocked and cannor capture
the red horse. In such a sitluation, Ted alome is
making a perpetial chase, Therefore red must
change hi= moves. or he loses,

25, The cannon may hot, by making use of another piece ag gup-mount, perpetually
chase an unprotected piece be it a horse, adviser, elephant or a erossed-river pawn.

This applies even if the cannon remains
statipnary, only those pieces that function as the B 58
gun-thount are moved by enther plaver. Such
chase is regarded as perpetual chase and thus a
violation of rules. The cannon side must change
his moves, or he loses. The exception is when
such chase s performed on 3 pawn that has yo
to cross the river, (Diagram 36 - 60}

[1Gizzram 36) (Red o move)

PFi=2.ta=8, P2=31e8=7 P3=1: c7=8, P?=3,

cli=%, P5=1

Remark

Red makes perpetual chase on the unprotected
black horse with the cannon by changing the sun- |
mounl on cach consecutive move. Red must

change his moves. or he loses.




fEhagram 57) (Red 1o move}
C3=4, cO=6, Ad-5 ch=B. AS<d, ch=6. A4S,

ch=8, A5+, c8=6_ ALS, ch=8, AS+d. ' |

e B _I_C_ﬁ;
" Q% e
]' _i%: [‘\@'@

[Diggram 58] (Red e move)
C4=3. c7=6, E1+3, e6=T7, E3-1. c7=8. ES+3,
ch=7, E3-5, ...

Remark
In the rwo diagrams above, red inmtiatez a

=it B =i = perpetual chase on the black advisor or the black
(L — B @_% elephant by changing the gun-mount. Red mis)

5 .;'ii:,]_? b ;1.' i % change his moves, or he loses.

M 5 [N S

I (-
5 A B 59 £ A
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[Dhagram 59] (Red 1o move) = '\? |
E3+1, <779, E143, ¢9=6. E3-1, c6=9, E1+3, ol |
¢9=6, F3-1, .. 2 | i

Remark

Llsing o different pun-mount, red makes perpetual
chase on black’s inprotected crossed-river pawn.
Therefore red must change his meves or he loses,

black pawn has not crossed the river, there is

[Diagram S0] (Red 1o move) Blsao -

E3=1, c7=9. E1+3, c9=6, E3-1, c6=%, E1+3, =
€9=6. E3-1, .. a3
Bemark

Using a different gun-meunt, red makes perpetual i =
chase on the unprotected black pawn, As the ’ ‘%E‘B

no violation of rules. If both sides do not change
their moves, the game will be ruled a draw.

B &1 = A

[Magram 52] (Red to move)

Cl1-1, c8-1, AS5-6, cB+l. A6+5, cB-1, AS-6,

cH+1, AB+HS, ..

Remark

In the above two diagrams, red cannon makes
perpetual chase on the black chariot by moving
the advisor or the elephant. Red has violated the
tules, therefore he must change his moves, or =

else he loses.

26. The ¢cannon may not. by using other piece
as gun-mount, perpetually chases a chariot
{protected or unprotected). This applies even if
the canmon and the chariot under attack remain
stationary, only those pieces that function as gim-
mount are moved, The simuwation s regarded as
perpetual chase and therefore a violation of rules.
The cannon side must change his moves, or he
loses. (Diagram 61 and 62)

[Diagram 61] (Red 1o move)
C2=T, h9+7, E3+3, h7+5, E3+5, h5-7, E5-3, h7-
6, E3+5, ...

Bz .
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27. 1f & chariot is pinned 10 a line by a cannon,
the movement of the chariot along the line will
nol eonstitute a chase on any opponent piece.
The opponent’s chariot is not allowed 10 make
perpetual chase on the pinned chariot. This
situation will not be viewed as a perpetual offer.
However, if the pinned chariot is protected on
onc of its moves, then it is oot a perpetual chaze,
Whether or not the chariol is protected, one may
it chase it perpetually with a horse or a cannon
(Diagram 63 - 66)

[Ciagram 63] (Red to move)

CE+3, r5-1, CB-1, 15-1, C3-2, 1542, c8+3, 15-
3, C8-1, r5+1. .

Remark

The black chariot’s movement is confined to the
central line. Therefore it does not constitite a
perpetual chase on the red cannon. If both sides

BT <&

A

¥
1

do not change their moves, the game will be miled a draw.

Bl 54 = K

1, R8+1, ...

[Diagram &5] {Red to move)
R24+2. 161, R2-1, r6+1, R2-1, r2-1, R-1, R2+1,
Re+l, 12-1, .

Bemark

In the above two diagrams, the black chariot.
being pinned by the red cannon, cannot leave the
file o capture a piece. Red has violated the rule
of perpetual chase. Red must change his moves,
or he loses.

26

B es

[Diagram 64] (Red 10 move)
BE<4, r3+4, R84, r5-1, RE+1, 541, RE-1. r5-

|
AT W)
H

[Diagram 66] (Red to move)
R3=2, 13=7, RI1=3, r7=§, R3i=2 i8=7. R2=3,
r7=8. R3=2, ..

Remark

The Black chariot is protecied on one move and
unprotecied on the other, Therefore red chariol
is not making perpetual chase on the black
chariot. If both cides do not change their moves,
the game will be ruled a draw.

El 67 =z B
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28, Perpetual chise on opponent’s pieces by a king
is ruled a draw, even if one of the moves involves
another piece in a simultanesus chase. (Diagram
67 and 68)

[Diagram 67] (Red 1o move)

K&=5, c5=06, K5=4, c6=3, Kd=3, c5=0, Ki=4. ...
Remarl

The red king is allowed 1o perpetually chase the
black cannon. If both sides do not change their
moves, the game will be ruled a draw,

%

@r |’:_.E"

g 5
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[Diagram 63] (Red to move)
E4=3, pi=6, K3i=4, p6=3, Kd=3, pi=6, K5=4,

Remark
The red king together with the red horse, chases

the black pawn perpetually. But there is no
viglation of rules (The horse amacks the pawn
on only one of the two moves) If both sides do
not change their moves, the game will be ruled
a draw,




20, Perpetual chase by a pawn is ruled a draw,
Perpetual chase on one or more pieces by wa
or more pawns is also allowed. [i is still a draw
even if one of the moves involves another piece
in making the chase. (Disgram 69 and 70)

[Diagram 69] (Red to move)
P2=1, ¢9=8, P1=2, c8=9, P2=1, c9=§. Pl1=2_ ..

Remark

It is legal for & pawn to make perpetual chase,
If both sides do not change their moves, the
game will be ruled s draw.

B 7o £ &

P2=3

Remark

ddda

- )

3. A king or a pawn mav not chase a piece
petpetually if every move involves a simuliancous
chase by another piece. Tt will be ruled a loss.
{Diagram 71 - 73)

[Diagram 71] (Red to move)

K6=3, pi=4. Ki=6, p4=5, K6=5, pi=4. K5=6,
pd=5, K&=5, ..

Bemark

In each move, not only the red kimg, but also
one of the red horses is attacking the pawn. It
therefore violates the tule of perpetual chase.
Red must change his moves, or he loses.

18
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[Diggram 70] (Red to move)
F2=3, h7-8, P3=2, hB+7, P2=5, Li7-8. P3=2 hR+7.

Red makes perpetual chase on the black horse
with a pawn-cannon cembination This is
| permissible. IF both sides do not change their
1] moves, the pame will be ruled a dreaw.

- |' f@-— Naote: If red has a cannon on the third file, then
‘y’i“v: _ red must change his moves, or he loses.
HZ~N
i B Zz 5

2=

[Diagram 72] {Red to move)

Pi=8, c2=3, Pi=7, c3=1, P7=8, c2=3, F3=7,

c3=2 PT=§, _.

Remark

Besides the red pawn. the rwo horses are also
attacking the cannon perpetually. Red must
change his moves. or he loses.

| i' (i

7 &

31. A chariot mayv not perpetually chase a
crossed-river pawn. though the pawn may be
chasing some pieces consecutively in turm. The
charot side must change his moves, or he loses,

{Chagram 74 and 75)

[Diagram 74] (Red to move)

R4=3, pi=6. R3=4, p6=35, E4=3, pi=4, R5=4,

pd=3, R6=3, _.
Remark

Protecting the horse is no excose for the red
chariot to make perpetwal chase on the
unprotected black pawn. Red must change the

moves, or he loses,

[agram 73] (Red to move)
PO=§, r2=1, P&=9, ri1=2, I'9=8, r2=1, P§=9,
rl=2, P9=8_ _.

Besides the red pawn, the red cannons are also
attacking the chariot perperually. Red must
change his moves, or he loses.

B4 £ &
f_E fl
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[Diagram 75)] {Red to move)
R6=5, pi=4, Ri=6, pd=3, R6=3. p3=4 R5=6,
pi=5, R6=3,

Remark

Perpetual chase on the red cannon by the pawn
is permissible. On the cotrary, it is illegal for
the red chariot to perpervally chase the black
pawn. Red must chanpe his moves, or he loses,

B 7s

B A

[[Magram 78] (Red o move)
=7, h3+l, R7=5, c3=6, R5=4, ch=5, Rd=3.
p7=R, R3=% hl-3, BO=7, h3+1 R7=5, .

Remark

In the above three diaprams, the red chariot is
allowed 1o make perpetual chase on two or more
pieces. If both sides do not change their moves,
the game will be ruled a draw.

.
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| /i% ) 32, Perpetual chase on two or more pieces by a
piece is allowed. Perpetual chase on two or more
l e picees by two or more pieces is also allowed,

| 1 nig The pame will be declared a draw in these
situations. (Diagram 76 - 803

L & 0 ®
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[Diagram 79] {Red to move)
O7-1, rd-2, C7-2, 442, C7+2, r4-2, 07-2, r4-2,
2

Remark

The red connon 15 allowed 1w make perpetual
chase on two different pawns. On the contrary,
the black chariot may not perpetually chase the
red canneon. Black must change his moves, or

i
o
@
c.fa

[Diagram 77] (Ked to move)
R1=Z, pB=7, R2=3, pi=H, R3=8 p2=1, RE=T,
pl=2, R8=2, ..

B

_'\.%F-f' | 4 [Cizgram 7o) (Red to move)
[ s R&=7, h2+3. R7=8, h2.3. RE=2, c8=0 R2=7,
@—‘—\ﬁ/ h3<2, R7=8, h2-3, R8=1, ..
=+

he loses,

[Ciagram B0] (Red to mowve)
R1=2, CB=0, Rl=, R2Z=1, Co=§, R9=§, {2=1,

Remark

The two red chariots take turns to chase the
black cannons. This is illegal, and the pame will
be declared a draw if both plavers do not change
their moves.

)
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33, Perpetual chase on one piece with two or [Diagram B4] (Red 10 move) Eaa o
more paeces is ruled as a loss. The plaver making R2=3 C7=8, R3=2. C8=7, R2=3, C7=8, R3=2
the chase must change his moves (Diagram %1- C8=7, B2=3, ... i

840

[Diagram £1] (Red to move)
R2=1_.C9-Z, R3+1, 91, R241, C9+1. R3-2,
Co=2 H2H], i

[Magram 82] {Red lo move)

[Diagram 83] (Red to movel

LS

-

must chanpge his moves, or he loses.

_ { H7-5. P3=4. H3=7, P4=3, H7-5, P5=4_ H5=7. SLE K3-1, C6-2, R3+2, Ce+2, R3-2, C6=2. R3-2.
sy Pd=5, HY-5, ... s i C6-2, R3+2, ......
el L1 ® &9
— M — Remark : | 1 | Remark
my | | In the two diagrams above, it is a  two-on-onc E‘\L i s e o0y In the wo diagrame above, the red chariot is
perpetual chase, Red must change his moves, or it i chasing a “fake-rooted™ piece perpetually. Red

- he loses. E
000 O

© 7 PN

B ez 2 5 q % Bes = K
34. It is a violation of rules to make perpetual W w
chase on a “fake-rooted™ piece. The player ] - -
making the chase must change his moves, or he b 35, When two or more pieces attack a piece. it , o
loses {Diagram 83 - 85). @ will not be regarded as perpetual chase if the ' e+

— - — piece under attack has a real rool. The game
[Diagram 3] { Red to move) | | @__ will be ruled a draw if both plavers do not |
R6=3, C7=3, R3=7, C3=7, R7+3, C7=3, R3=7, change their moves (Diagram 86 - 89},
C3=7, R7+3, .. —@-‘ P —f}—
Remark E [Ctiagram %6) (Red to move) ) LEE =
The black clephant, being pinned down, is not @1_ R2+2, Co+42, R2-2 (941, R2-1, C9-1, R2+1,
capable of protecting the black cannon, It is a P I C9-2, R2¥#2, ... | e
fake root in this case. Red chariot may net S A —i—
perpetually attack the cannon, ¢ven though there (\@k—\ é E ey | 5
is a perpetual kill on block’s part . Therefore & :I:f _.Eﬂ“i' hasd =
red must change his moves, or he loses. . &
32 33




[Diagram 7] {Red to move)
RB7-1, C3-1, R7+1, C5-1, R7-1. C3-1, R7+1, C5-

E=RFs] s

Remark

In the two diagrams above, the two ted chariots
are repeatediy amacking a real-rooted cannon.
There is no violation of rules and the game will
b ruled a draw if both players do not change
their moves

Bl s
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[Diagram £79)] (Red o move)
C6=T, H3-1. R7=9, H1+3, R9-7, H3-1, R7=9,

A

H1+3, R9=7, .......

Remark

Red. with 8 combination of one chariat and two |
cannons, is repeatedly anacking a real-rooted

horse. There is no vielation of rules and the pame L
will be ruled a draw if both plavers do not !

change their moves.
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[Cvagram B8] (Red to move)
R4+3, C9+1, Ra-1, CO+1, R4-1, O8-2, R4=2,
Co9=1, R4-1, ...

R emark

Red, with a combination of one cannon and two
chariots, is repeatedly attacking a real-rooted
cannen. There is no vielation of mles and the
game will be ruled a deaw il both plavers do nol
chanpe their moves

%)

36, The repetiticn of two conseculive chases, of
which ome is also an invitation to exchange
pieces. is regarded ag a perpetual chase, Even if
both moves can be viewed as chases as well as
invitation te exchange picces, it is still a
perpetual chase,

[Diagram 90] (Ked to move)

R2I=0_ CI=Z, R9=E, {2=1, RE=9, {1=2, RO=E,
Cl=], RE=9%, ...

Remark

Red chases the black cannon with his chariot on
one move, and on the aext move it chases the
cannon again and at the same times invites black
to trade the cannons, This is stll a  permpetual
chase, and a vielation of rules, Red must change
s mowves, or he loses.

= ]

Remark
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[Diggram 92] (Red to move)
R5=6, R4=3, R6=3 RE5=4, R5=6, Rd4=35, R6=3,
Ri=4, R5=6, .......

B a0

ez
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[Cagram 91] (Red 1o move)
RE§=0, C1-2, R9=8, C2=1, R8=9, C1=2. R9=8,
C2=1, RE=9, .......

A K5

Red repeatedly chases the black cannon and
%, inviles an exchange of cannons ar the same tme.

This is still # perpetual chase. Red must chanse
hiz moves, otherwise he loses,

33



[Dagram 93] {Red to move)
RB7=8, R2=3, R8=7, BK3=2, R7=8§, R2=3, R8=T,
R3=2, R7=§, ...

Remark

In the vwo diagrams above, both moves of the
red charior apparently invite black to trade the
chariots, however, his two horses {though never
moved) are chasing the same chariots at the same
time. Thercfore, this 13 still 3 perpetual chase,
Bed must change his moves, or he loses,

Hea s A
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37 Im a siuation where side A’s Chariot and

|Diagram 98] {Red to move)
CO-b, Ré-1, C0+], Re-1, C9-[, Ré+2, CO-2, R6-
L, Tl

Remark

Red has violaed the rules for making perpetual
chase on the chariot. Therefore red must change
his moves. otherwise he loses,
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King are pinned down by side B's Chariot and
Cannon. and side A perpetually attacks the
menacing chariot with a horse or a cannon. it
is regarded as a perpetual chase on the chariot

38. Perperual threat o caprure-afier-check is
permissible. IF both players do not change their
moves, the game will be ruled a draw (Diagram
97-98).

and wiall be ruled as a loss (Diagram 94-946),

[Diagram %7] (Bed to move)

[Diagram 94] (Red 10 move) C9-1, Ke-1, Co+1, K6+1, C9-1, Ké-1. €91,

' | | H4-2, R6=7, H2+4, R7-6. H4-2, R6=7, H2+4, | | I =fratles o s
= ,J.\ R7-6, H4-32 ... | I 7 e
- L= —_ - :
AT & |
o LAS e o] ..%_.__,_ |
¢ ._é @ A L, |
== Bes 2 % & B Bes B F
i iT
[ “\@f _é
L [Diagram 98] (Red 1o move)
[Diagram 95] {Red to move) n I Ri1=2, CO=8, R2=3, C8=7, R3=1, C7=% RI1=2,
H4-2, R8=7, H2+4, R7+8, H4+2, R8=7, HI-2, N I . C9=8, R2=1, ... ®
R7=8, HI42. . &l _ ; =
Remark &...--_9 %
Remark I i | In the two diagrams above, red has not vielated @ T s
In the two diagrams above, the red horse | any rules by threatening conlinuously to capture- g
petpetually chases the black chariol Although the "L._("EL“‘ after-check. If both players do not change their i
moves are foreed by sitnation, this is still a AT \_\\‘E’:} moves, the game will be ruled a draw \@/
violation of rules. Red must change his moves, ol i /ﬁ\
or he loses, |
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39, Perpetual block is ruled a draw. (Diagram 99
99-1007. - =

[Diagram 99] (Red 1o move)
C2=1, C9=8, C2=1, C8=9, Cz=I, C9=8, C2=1,
CE=9, C2=1, e

R B

While the black cannon is making perpetual kill,
the red cannon is making perpetual block.
Weither has violated any rule, the came will be
declared a draw. o ==
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[Diagram 1040] {(Red o move)
RZ=4, C8=6. R4=1, C6=9, K1=8, Cl1=2, R&=3,
Co=7, R3=d. C7=6; .......

BRemark
Both plavers are not violating the rules, therefore
the game is declared a draw.,

g % By &2

40. Perpetual offer and perpetual exchange are f
both tuled as a draw, (Diagram 101-102). 3

[Diagram 101] (Red to move)
B+l R1+3, R+-3, Rl1.2, R+42, Ri-3, R++3,
Ri-2, B2, -.ovii

Eemark

Smce the black chariot is not pinned, it is legal
for the red chariot 1o make perpetual offer with
the aim to foreing an exchange. the game will
be ruled a draw.

i3

|Piagram 102] {Red to move) B 10z a2 =
R7=3, R6=7, R1=2, R7=§, RI=4, RE=6. Rd=1,
R&6=%. R1=1, R%=§, ... | e\ﬁ

i

[Diagram 103] {Red to move)
B&-3. R4-1, R8+1, R4-2, RE-2, R4+5, R8-3,

Bemark
F—— g I In the two diagrams above, hoth plavers are not

violating the rules. Therefore the zame is
declared a draw,

[Diagram 104] (Red to mave)

P7=8, R2=3, P§=7. R3=2, P7=8, R2=3, Pi=7, ;Y
R3=2, P7=%, ... ! :

e
Remark — | i I
While the black chariot is making perpetual kill.
the red pawn is making perpetual offer. Both

plavers are not at fault, the game is therefore )
declared a draw, R
L)
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Additional illustrations

Perpetual chase

(Red 10 movel

P7=6. E1+3, P6=T7, BE3-1, P7=8, E5+3, P8= E3-
5, BT=6, ...

Remark

Red uses the crossed-river pawn to cut off the
horse’s protector, In effect, the red chariol is
making a perpetual chase on the unprotected
horse. Red must change his moves, or he loges.

e;\?b'
@\/%
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@ Mon-Ferpstual Chase

! @ {Red o move)
R2+1, O8+1, R2-1, C8-1, R2+1, C&+1. R2-1,

{ﬂ@— CR1, B2+1, ...

= o
e u:._t/u'w-._ .-’.
1 A

Red seems to be making perpetual chase on the
black cannon with his chariot but the unprotected
cannon is deflecting the ‘chase’. This is an
cxceptional case where the red charot’s moves
are not regarded as perpetual chase, and the
game can be ruled a draw,

Mutual- ctual Chaze

(Bed to move)

R4-2 A4+5, R442 AS-4 R6-4, Ad+5, Ro+4
AS-4, B4-2, Ad+5. R4+2, A5-4 Re-4, Ad+5
Remark

After cach move of a red chario { e.g. R4-2,
Ra4+2 ), the other chariot is chasing repeatedly
on the same black cannon. Whereas after each
move of black (Ad4+3, A3-4) his cannon on the
Oth file 15 attacking red’s chariot on the 6th file.
Both sides are violating the same rule, the game
will be declared a draw if neither side varies
the moves.
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